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b Berikna procenttal
fatnn: Datum: Poing:
31 x 60% = 72 x 70% =

98 x 50% = 36 x 10% =

65 % 90% = 75 x 10% =

88 x 30% = 7 % 60% =

24 x 60% = 85 x 60% =

57 % 30% = 10 x 90% =

68 x 60% = 89 x 20% =

93 x 30% = 15 x 50% =

57 x 50% = 8 x 60% =

71 x30% = 21 x 50% =
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Berdkna procenttal

namn:

31 x 60% = 18.6

98 x 50% = 49

65 < 90% = 58.5

88 x 30% = 26.4

24 x 60% = 14.4

57 x30% = 17.1

68 x 60% = 40.8

93 x30% = 27.9

57 x 50% = 28.5

71 x30% = 21.3

Datum:

72 x70% = 50.4

36 x 10% = 3.6

75 % 10% = 7.5

7x60% = 4.2

85 x60% = 51

10 x90% = 9

89 x20% = 17.8

15 %x50% = 7.5

8 x 60% = 4.8

21 x50% = 10.5

www.snowmath.com

Poéng:



https://www.snowmath.com

